R	<b>Revelry Event Designers</b> 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			IN-OOOTO2 Michel B Events Â Â, Â Â Invoice Date: Due Date: Upon Receipt Salesperson: Milana Ayvazova		007021
08/30/2024 08:0 08/30/2024 03:0 with fabric 08/30/2024 04:0 PM COVER PANE	0 AM   Event Date	PO: Shipping Address: Ojai Valley Inn 905 Country Club Rd, Ojai, CA 93023 *Orchard Lawn* On site contact: Maeve W. 818-355-9379 Lauren S. 310.702.0951 Michel B. 805-364-4320				
Description			Qtty	Price		Total
Additions	Rolls of black lycra to cov	ver store fronts	2	\$0.00	т	\$0.00
				Total Additions		\$0.00
Welcome Party	Herb Garden					
	Store Fronts To Span 152 mix of stock and custom store f verbiage to match client's them fabric included to cover window	fronts, paint color, awnings and e, store fronts only - not to go inside,	1	\$62,000.00	т	\$62,000.00
	Truss Legs, Pipes, Extra S	Sandbags, etc.	1	\$0.00	т	\$0.00
-	Props - Carts - Display Ca giftbags, lavender cart, ivory aw 8W⤠ଊ 40⤠୭ ± 79⤠¤ H	-	1	\$950.00	Т	\$950.00
	Props - Carts - Display Cart W/ Drawing - Amarena parfumerie, blush cart, ivory valance with blush trim 77⤠® W38⤠® ±77⤠® H		1	\$950.00	т	\$950.00
<b>U</b>	Props - Carts - Metal Flow ivory cart, blue and white awning 88" x 58" x 100"		1	\$950.00	Т	\$950.00
3	Props - Carts - Display Bik macaroons - blue cart, blue awn 4⤠& x 140⤠¤ ±40⤠¤ H	ke Cart W/ Drawing - Mela <sup>ning</sup>	1	\$950.00	Т	\$950.00
100	Props - Carts - Display Ca macaroons - blue cart, blue awn 77"W X 35"L X 39"H		1	\$950.00	Т	\$950.00

Description		Qtty	Price		Total
	Garden Props - Umbrella - White & Fringe 5.5' W x 6' H	8	\$150.00	Т	\$1,200.00
	Garden Props - Umbrella Square 10' 10'W x 10'L - Cover Color Upon Request	8	\$250.00	Т	\$2,000.00
I	Garden Props - Umbrella Stand - Bronce Finish Arcade White 21.7"Dia. x 13.5"H, 44 lbs.	16	\$0.00	Т	\$0.00
	Custom Pergolas Over Bar Approx 12'	2	\$2,000.00	Т	\$4,000.00
	Bars - New York - Folding 8' painted lavender sachet high gloss top and frame, arcade white trellis front 8'W x 30"L x 42"H - Color Change Upon Request	6	\$1,150.00	Т	\$6,900.00
	Bars - New York - Folding 6' painted lavender sachet high gloss top and frame, arcade white trellis front 6'W x 31"L x 42"H - Color Change Upon Request	2	\$1,050.00	Т	\$2,100.00
	Barback - Tokyo - Straight Basic 4' X 8'h - Metal W/ Legs painted lavender sachet high gloss top and frame, 4'W x 18" x 8'h	2	\$250.00	Т	\$500.00
	Custom 2' x 2' 42"H Facade For Bar Corners 2 piece facades to hide trellis leg with a top, painted lavender sachet high gloss top and frame, arcade white trellis front	8	\$475.00	Т	\$3,800.00
	Tota	otal Welcome Party Herb Gard		den	\$87,250.00
Store Front Iter	ns Confirmed				
	Panels - Clear Plexi W/ Frame (5) 4' x 10'H (3) 51" x 10'H	2	\$0.00	Т	\$0.00
	Panels - Window Frame Panel 8'W x 4"1/2D x 10'H	1	\$0.00	Т	\$0.00
	Panels - Oval Window Frame 8'W x 14'2"H	2	\$0.00	Т	\$0.00
	Oversize Props - Dome Awning 4' x 2' H	1	\$0.00	Т	\$0.00
		0	<u> </u>		¢0.00
	Oversize Props - Traditional Awning Small 60"W x 20"D x 30"H	2	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Oversize Props - Concave Box Valance Awning 96"W bottom   48"W top x 20"D x 30"H - 12" Valance	2	\$0.00	Т	\$0.00
	Oversize Props - Traditional Awning Large 96"W x 20"D x 30"H	1	\$0.00	Т	\$0.00
	Panels - Oval Window Hard Panel 8'h 4'W x 8'H	2	\$0.00	Т	\$0.00
Parcent	Panels - Store Fronts 04	1	\$0.00	Т	\$0.00
	Sconces - Iron Armed Bistro Sconce W/ Clear Glass Globe 6"W x 8"D x 11.75"H	8	\$0.00	T	\$0.00
	Panels - Tiffany - Wood W/ Niche & Shelves 4' x 10'H	14	\$0.00	Т	\$0.00
	Panels - Store Front 01 11'9"W x 11'H	1	\$0.00	Т	\$0.00
	Panels - Store Front 02 13'1"W x 12'9"H	1	\$0.00	Т	\$0.00
	Panels - Store Front 03 11'9"W x 13'9"H	1	\$0.00	Т	\$0.00
	Oversize Props - Awning 8'x10' 8'X10'	2	\$0.00	Т	\$0.00
		Total Store Fro	Store Front Items Confirmed		\$0.00
Services					
	Drive + Install Day 1	10	\$650.00		\$6,500.00
	Install Day 2	10	\$500.00		\$5,000.00
	Install / Touchups Day 3	10	\$500.00		\$5,000.00
	Strike + Drive Back	10	\$650.00		\$6,500.00
	Hotel Rooms	1	\$5,200.00		\$5,200.00
	TRUCKING	5	\$620.00		\$3,100.00
	Per Diems	10	\$185.00		\$1,850.00
	Hotel Room For Manager (3 nights)	1	\$1,800.00		\$1,800.00

Description	Qtty	Price	Total
Manager Fees: Revisions, productions, renderings, management on site, etc	1	\$2,500.00	\$2,500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$87,250.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	abor/Services/Misc:	\$37,450.00
Please ready the contract and sign it	V	Vear & Tear (5.00%):	\$4,362.50
		Packing (3.00%):	\$2,617.50
Notes		Taxes :	\$8,288.75
25% Deposit due ASAP at confirmation. Additional 25% due in June 2024. Remainder balance due 30 days prior to delivery		Discounts:	(\$0.00)
		Total:	\$139,968.75
		Payments:	(\$139,675.00)
		Balance:	\$293.75